
Mental Subtraction (within 100) Crossing 10 (2) 
Name:                                                                          Date:   
 

ExampleExampleExampleExample    47 – 39 =  

Partition the subtrahend: 47 – 30 – 9 = 
Subtract the 10s then the 
1s: 8888    
 

51 – 43 =  
 

51 - _____ - _____ = 
 

______ 

70 – 57 =  
 

70 - _____ - _____ = 
 

______ 

43 – 38 =  
 

43 - _____ - _____ = 
 

______ 

68 – 29 =  
 

68 - _____ - _____ = 
 

______ 

72 – 37 =  
 

72 - _____ - _____ = 
 

______ 

54 – 18 =  
 

54 - _____ - _____ = 
 

______ 

43 – 25 =  
 

43 - _____ - _____ = 
 

______ 

73 – 49 =  
 

73 - _____ - _____ = 
 

______ 

63 – 36 =  
 

63 - _____ - _____ = 
 

______ 

61 – 26 =  
 

61 - _____ - _____ = 
 

______ 

85 – 47 =  
 

85 - _____ - _____ = 
 

______ 

 

• Check each answer with addition. 
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